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1. INTRODUCTION

The following paper presents a discussion of the Kenyang tone orthography
testing that was conducted in Bachuo-Ntai, Manyu Division, South West Province,
Cameroon during June 1997. The purpose of this testing was to attempt to
determine if proposed changes to the original orthography would result in any sight-
reading and/or comprehension problems for readers.

2. DESCRIPTION OF THE PROBLEM

2.1 Previous Kenyang Orthography

The previous Kenyang orthography, proposed by Tanyi Mbuagbaw in 1989,
included tone marks for high [ “], falling [ "], rising [ "] and mid [ ”]. Low tone
was unmarked. Various pieces of literature were made available vsing this system
to a segment of the Kenyang-speaking population. Particularly following a test




class for the first primer, readers and teachers were noting difficulties with the tone
marking system. Of particular difficulty was the falling and mid tone marks. The
high and rising tone marks did not seem to cause significant problems for the
learners and instructors.

As a result of these comments, the question arose as to whether or not changes
were necessary. Initially, the Kenyang readers proposed dropping the two
problematic tone marks. However, this proposal needed additional testing to
determine if such a change would result in ambiguities or other problems for the
readers,

2.2 Proposed Changes

In order to better understand the factors at play with the tone system,
particularly as pertains to the verb tone structure, Dr. Keith Snider and Tanyi
Mbuagbaw carried out additional analysis of the Kenyang verb tone system. Their
findings and proposals were:

1. The mid tone was actually determined to be a downstepped-high
due to an intervening "floating" low. Snider proposed marking
this with an apostrophe followed by high (e.g., ba’pa [ba>pi] ‘they
are spitting’).

2. The falling tone was found to be largely predictable. According
to Snider and Mbuagbaw’s analysis, the falling tone proved
almost always to be the result of tone spread ftom a previous
High and that the Kenyang reader perceivesitasal. Asa
result, Snider proposed leaving it unmarked (e.g., bako [bak3]
‘they walked’).

What was previously written as a subject and verb phrase (two
separate words) was recommended to be written as a subject-
prefix + verb-stem (one word) in order to maintain a more
constant word image (e.g., bdpa ‘they spat’ vs. bd pd ‘they spat’).
Constant word image is an important principal in orthograghy
development to more easily facilitate reader fluency. The
problem with the constant word image in the previous orthograhpy
is best illustrated in how the subject marker would change tone
marks based on the tense/aspect of the verb phrase. For
example, under the previous orthographic conventions, one would
write the following:

0Old Othrography New Othrography
a péa [a pa] ‘he spat’ apd [apa] ‘he spat’
and and
d pa [4 ‘pa] ‘he is spitting’ d’pd [8*pA) ‘he is spitting’

The subject a ‘35S’ takes on different images based on the
tense/aspect influence of the tone melody. This poses a problem
for readers in coming to learn and control to become fluent
readers. Whereas, in keeping with Snider’s recommendations to
join the two parts as a prefix-stem verb word creates a more
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constant word image for each of the person-number-tense-aspect
conjugations of the word images.

3. Mark sequences of HL within words in which the high does not
spread due to an intervening floating tone with an acute accent
followed by an apostrophe (e.g., bd ko [b8kd] ‘they are walking’).

What was previousty marked as the mid tone could not be completely ignored
in the proposed changes since it functioned to differentiate between the simple past
and the present progressive forms. The apostrophe was proposed to serve this
purpose as demonstrated in the following examples.

Old | Revised English Phonemic
Form Form Gloss Form
bako ba’ko ‘they are walking® | [bakd]
baks bako ‘they walked’ [baks]

bédpa ba’pa ‘they are spitting’ | [ba‘pé]}

bépa bépd ‘they spat’ [bap4]

The above proposed changes were incorporated into a test version of the
Kenyang Primer I and then introduced to two adult classes in Bachuo-Ntai and
Besongabang villages over a period of April through June 1997. The classes were
made up of participants of various levels of literacy, both in English and Kenyang.
Although it would have been preferable to have classes made up of illiterate adults,
for various reasons this was not possible.

One significant problem that came about as a result of these classes is that
there was an expressed general resistance to the use of the apostrophe in the
orthography, The class participants and other native speakers argued that context
would suffice for differentiating between the simple past and progressive forms of
the verbs and that the apostrophe was not necessary. As a result, the primer was
actually taught without the use of the apostrophe.

The testing was conducted in spite of this departure from the primer. The
testing was still necessary to determine if the proposed changes would result in
comprehension difficulties, particularly as relates to forms of verbs that would
orthographically appear identical such as in the case of simple past and present
progressive.

3. TESTING

A test was prepared and administered in Bachuo-Ntaj to 16 people who were
nearing completion of a literacy seminar based on the test version of the Kenyang
Primer 1. The test was administered by Lawrence Seguin, Tanyi Mbuabgaw and
Chris Jackson. Each participant was given new material to read and was tape
recorded for future reference. The test consisted of two parts: 1) A contrastive
sentence test consisting of two sections and 2) a reading test. See attached
appendices for examples of the test materials.
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3.1 Part I: Contrastive Sentence Test
3.1.1 Sectionl|

In the first section, the test participants were asked to read seven pairs of
sentences (2 warm-up, 5 test) with no tone marking on the verb root. The first
sentence of the pair contained no overt indication of time. It was expected that this
would elicit low tone on the verb root, resulting in a present progressive
construction. An example of this is as follows:

1) b5 béte eket {bate]
3P 3P.build house
“They are building a house.’

The second sentence of the pair was cast in a past tense context by using a
time word such as éyii ‘yesterday’, nydka ‘FAR PAST’, or béti ‘(in the) morning’.
With such a construction, it was expected that the reader would produce a falling
tone on the verb root, marking simple past.

2) éyi b5 bdte eket  [baté]
yesterday 3P 3P.build house
“Yesterday they built a house.”

In both sentences, the verb word was written the same. This would not have
been the case had we followed Snider’s proposed recommendations to use the
apostrophe to mark the non-spreading higb-tone; the first sentence would have
carried the apostrophe (ba’te). However, as noted earlier, due to the general
refusal of the apostrophe and the insistence of the readers and teachers that context
would be sufficient to distinguish present progressive from simple past, we decided
to move ahead with this identical orthographic representation to confirm whether in
fact these impressions were true.

3.1.2 Sectionll

The second section was made up of six sets of three sentences (1 warm-up, 5
test). The first sentence of the three was time and aspect neutral and, thus, could
elicit either present progressive or simple past.

b3 bdtws fa  ambiguous: ‘they are coming here’
[ba‘tw3)]
or
‘they came here’ [batw5}]

The second sentence included the habitual market n3k3 “usually’. This was
expected to elicit a downstepped high indicating present tense.

b3 bdtw3 ndks fa ‘they usually come here’ [ba‘tw3]

The third sentence included one of a selection of the time words £y, bétf, or
nydkd, This was expected to be read with high tone indicating simple past.

&yl b5 bdtws ‘they came  here’
Ja [bétws]
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According to Snider’s recommendation, the second sentence of the triplet would
have been marked with the apostrophe to indicate the downstepped high, e.g.
ba’tws,

3.2 Part lI: Text Reading Test

The text reading test consisted of two short autobiographical accounts elicited
from Kenyang speakers in Besongabang., One text was used as a warm-up and the
other as the actual test text.

The warm-up text was most useful to determine if the falling tone would be
produced on verbs where it was unmarked because it contained seven such cases.
It was expected the past tense context of the autobiographical account would trigger
the proper tone pronunciation.

The test text contained a good sampling of the tone patterns we wanted to test.
Three verbs consisted of a H-*H construction and three were H-H, though all six of
these were written H-H due to the absence of the apostrophe. Also, of the 10
verbs written with I on th prefix and no tone on the root, three had a H-L melody
and seven a H-HL melody.

4. RESULTS

4.1 Part |: Contrastive Sentence Test

The results of the Section I contrastive sentence test are in the chart below (see
Appendix A for a sample test). In this chart, line 1. a) shows the following:the
othrographic word appearing in the sentence followed by the anticipated phonetic
pronunciation and the cotresponding English gloss; the number of the readers who
produced the conrrect reading (in this case, on the root for present progressive); and
the number of readers who produced an incorrect reading (in this case, HL on the
root for past, and H on the root, whose meaining is unknown). Note that a) refers
to the first sentence in each test pair, and b) the second sentence.
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Verb word Correct Reading Incorrect Readings
1. a) bdmen [bimin] pres. prog. (L)- 15 | past (HL) - 0 -1
‘you (pl.) are swallowing’
b} bdmen [bimén] past (HL) - 8 prog. (L) - 8
‘you (pl.) swallowed’
2. a) bdsot [basit] pres. prog. (L) - 11 | past (HL) - 4 H) -1
‘they are taking’
b) bdsot [basdt] past (HL) - 13 prog. (L) -3
‘they took’
3. a) bdko [bakd] pres. prog. (L) - 16 | past (HL)- 0
‘you (pl.) are walking’ :
b} bdko [b3k5] past (HL) - 4 prog. (L) - 12
‘you (pl.) walked’
4. a) bdmen [bamen] pres. prog. (L) - 13 | past (HL) -3
‘they are swalling’
b) bdmen [bamén] past (HL) - 13 prog. (L) -3
‘they swallowed’
5. a) bate [bite] pres. prog. (L)- 14 jpast (HL)-0 | (‘"H)-2
‘you {pl.) are building’
b} bdte [b4té] past (HL) - 5 prog. (L) - 11
‘you (pl.) built’

These results provide some points of interest. First, inasmuch as the first
sentence of each pair (a), as proposed by Snider, would have carried the
apostrophe to indicate the presence of the floating tone, preventing the spread of the
high tone to the low tone, it appears that the correct tone for present progressive (L)
can be read in the apostrophe’s absence.

In the second sentence of each pair (b), the results between reading the
anticipated HL versus the L was about evenly spread. One might consider that the
presence of the present progressive form in the first of the pair "set the stage" for
the readers to produce the progressive form in the second reading of the same
verb. It would have been better to have mixed the order in the testing so as to
avoid this possible skewing of the results.

It is also interesting to note that I was the most frequent initial reading across
most of the 10 samples, as well as the more obvious (literal) reading of the text
given the tone markings (H first syllable, L second). This might be considered the
"default" reading.

The second section results were as follows:
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Verb Word Correct Readings Incorrect Readings
. a) bdtw (ambiguous) pres. prog. (*H) - 2 past ()-S5 {L-9
‘they (come)’
b) bdtw5 [ba*tws] pres. hab. (‘H) - 12 | past (H) - 4
‘they come’
¢) bdiw3 {batws] past (H) - 11 prog. (*H)- | L - 2; none - 1
‘they came’ 2
. a} bdkwén (ambiguous) | pres. prog. (‘H}- 12 |past(H}-1 [LH-2;L-1
‘you (pl.) (fall illy’
b) bakwén [ba*kwén] pres. hab, (*\H) - 16 | past (H)- 0
‘you (pl.) fall ill’
¢) betkwén [bikwén] past (H) - 8 prog. (L) -
*you (pl.) fell ill’ 8
. a) bdif (ambibuous) pres. prog. (‘H}- 13 |past(H)-2 |LH-1
‘you (pl.) (sell)’
b) béi [biti] pres. hab. (*H) - 16 | past (HL) -
‘you {pl.) seli’ 0
c) b [bit] past (H) - 7
‘you (pl.) sold’ prog. (*H) -
9
. a) bdtwd (ambiguous) pres. prog. (*H) - 11 |past(H)-2 [ L -3
you (pl.) (come)’
b) bdiw? [bi‘tws] pres. hab. (‘*H) - 16 | past (HL) -
‘you (pl.) come’ 0
c) bdtwd [batw3] past (H) - 5
‘you (pl.) came’ prog. (‘*H) -
i1
. a) bdkwén (ambiguous) | pres. prog. (*H) - 8 past(H)-2 | LH-6
‘they (fall)’
b) bdkwén [ba'kwén] | pres. hab. (*H) - 15 | past (H) - 1
‘they fall’
¢) bdkwén [bakwén] past (H) - 6 prog. (‘H) - | LH-1
‘they fell’ 9

The first sentence of each triplet (a) was tense and aspect neutral. Other than
#1, the most frequent reading was ‘H on the verb root indicating the present
progressive form, This is the form that would have been marked with the
apostrophe, and is not what one would expect to be the most likely reading from a
native speaker viewpoint. Rather, it seems that the more obvious reading would
have been H in that the root is marked as H.

The second sentence of each triplet (b) included the aspect market ndks
‘usually’. Again, this form would have been marked with the apostrophe, as
proposed earlier, and the more obvious reading would be H, but the most frequent
reading of this sample was ‘*H. This contributes to the participants’ assertion that
context may suffice in some cases for reading the tone on verbs,

May 1998
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As with the b) set of the section 1 sentences, the ¢) set sentences of section I
saw an inconclusive distribution between H for past, the anticipated reading, and ‘H
for past progressive: in fact, except for 1) c., there was an overall tendency toward
the ‘H reading. This, again, may have been influenced by the reading of the first
two sentences, which were *H. Mixing the order of the sentences may have
helped to eliminate this possible skewing.

Based on the above results, one might ask whether a special mark of some type
would be necessary to set the past tense form apart from the present progressive,
or vice versa, since the ‘H form (and not H) appears to have been the favored
reading overall. These sentence tests were isolated sentences, without the benefit
of the context provided by a unified text. The results of the reading test provides
additional insight into this question.

4.2 Part ll: Text Reading Test

The text reading test was designed to try to determine what influence context
would have on the ability of readers to properly decode the tones necessary to
understand the tense on the verbs. As was stated earlier, many of the subjects
involved in the testing process insisted that context was sufficient to understand
written material. Comprehension and efficiency are important in literacy skills, so
this test provided some insight into whether the proposed system would prove too
difficult, resulting in halted reading and/or too much re-reading.

Below is the tabulation of the results. These results include those of the warm-
up story since it proved to provide the useful insight into the case of the falling tone.

4.2.1 Warm-up Text Results

Correct Incorrect
Spelling Pronunciation | Pronunciation

sérok ‘we went’ sérdk - 12 sérdk - 0
sébho ‘we started’ sébhé - 12 sébho - 0
Aisot ‘I should take’ fisdt - 12 nsdt - 0
ke °1 should do’ fkd - 12 fké - 0
kém ‘hold (inf))’ ‘kém - 12 kém - 0
dpet ‘he + again’ apét - 2 apkt - 10
dchwe ‘it entered’ dchwé - 12 achwe - 0
bdtws ‘you (pl.) came’ batws - 12 battws - 0
bdyon ‘they came’ bayly - 12 baydy - 0

What seems clear from the above results is that, outside of dpez, the readers
had no difficulty properly decoding the proper tone melodies in reading this story.
This is particularly true of the HL (falling) melody. It is not clear why dpet proved
problematic, except that the reading [ap2t] was possibly also a correct one in that
particular context.
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4.2.2 Test Text Results

Correct Incorrect Marked with
Spelling Pronunciation | Pronunciation { Apostrophe

béche ‘to prune’ bécheé - 13 bechz - 0
dmay ‘it finished’ Amiy - 12 dmay - 0
bérsp ‘to go bé'rdy - 13 bérdg - 0 bé’riy
mpet ‘l + again’ thpét - 2 mpet - 0

mpet - 11
éndy ‘(COMPLETIVE) E'nan - 13 éndy - 0 £’nén
éden ‘it was beaten down’ gden - 13 édén - 0 £’den
mpet ‘I + again’ mpét - 8 mpet - 0

mpét - 5
mdndy ‘they + COMPLETIVE) ma‘nay - 13 ménér - 0 md’nan
bdkwo ‘they shared bakwd - 13 bakws - 0 ba’kwo
bdkwo ‘they shared’ bakwd - 13 bakw5 - 0 ba’kwa
bdkw5 ‘they shared’ bakw) - 13 bakw3 - 0
bdkway ‘the were enough ’ bakway - 10 bakwiy - 0

bakway - 3
sérok ‘we got’ sérdk - 13 sérdk - 0
bdrdy ‘they showed’ bétdy - 13 ba'tsn - 0
sétwd ‘we came’ sétw3 - 13 sEtwd - 0
séchye ‘we gave’ séchyg - 12 séchyt - 0

Aside from dpet in the warm-up and both cases of ripet in the test text, the
tones generally were read correctly across all the tone melodies. Of particular
interest is that no difficulties were encountered where the proposed apostrophe was
removed (those marked with an asterisk in the table above).

5. CONCLUSION AND RECOMMENDATIONS

Based on the part one sentence tests, there is an obvious problem of ambiguity,
whereas looking at the resuts of the part two text reading test, these same problems
of ambiguity all but disappear. These results indicated two important conclusions: :
1) though Snider’s proposed apostrophe was not used, and therefore was not tested, .
the part one tests point out that some differentiation is needed to disambiguate the
simple past and progressive forms; whereas, 2) the part two text reading test
supported the native-speaker assertion that context is sufficient to accurately
comprehend similarly written forms with different meanings.

May 1998
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Although there seems to be no problem decipbering the necessary verb-tone
melody in the context of a full text, sentences in isolation can be ambiguous, as the
sentence tests showed. An example of this is as follows:

3) Eyi b3 bdte  chet.
yesterday 3P 3P-built house [batg]
‘Yesterday they built a house’

yesterday 3P 3P-built house [batd]
“Yesterday they were building a house.”

In the above examples, not employing the apostrophe or some other marking
would make it difficult for the reader to determine if the sentence was cast in the
simple past or the past progressive form. It appears, then, that some type of
marking to ensure disambiguity is necessary.

Based on the results of the testing, the following recommendations are
proposed:

1. Leave falling tone unmarked.

2. Mark downstepped-high as high,

3. Introduce some type of mark in order to address the potential for
ambiguity between the past and the present/past progressive
forms. After the tabulation of the results, a proposal was made to
introduce the grave accent on the first syllable of the verb root as
the "progressive” mark regardless of the tone melody for the
progressive form. An example of this follows, Note that the
phonetic [ 7] is NOT the same as the orthographic one.

Evii b3 bite cket. “Yesterday they built a house.” [bate]
Eyii b3 bité eket. “Yesterday they were building 2 house.” [baté]
B3 bdte eket. ‘They are building a house.” [bate]
or
Bétf b5 bakwén neme. ‘In the morning they fell ill.” [bakwén]
Béti b5 bakwén neme. ‘In the morning they were falling ill.” [ba‘kwén]

B3 bakwén neme. ‘They are falling ill." [ba‘kwén]

In the above examples, the use of the specific time markers (éyif ‘yesterday’,
b&i ‘morning’) seems to adequately distingnish past progressive from present
progressive.

Because this proposal was met favorably by the SIL Linguistics Departinent
and the Kenyang community, it has been introduced and is being taught in the new
test version of Primer 1. 1t will be necessary to follow this up with additional testing
as more Kenyang speakers become literate in the Kenyang language. Ideally,
future testing will consist of longer texts, making use of more than 100 participants
in a variety of locations throughout the Kenyang speaking area.

The tests conducted and discussed above were done with a very limited sample
size. This was largely due to the lack of people sufficiently literate in the Kenyang
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language at the time of the test. These tests, therefore, were used largely as a tool
to gain insights into these orthographic problems and questions so as to continue to
move ahead in the development of the language. Addtional testing in the future
will be necessary. As the Kenyang Primer I is used on a more broad scale
throughout the community, and a larger body of people literate in the Kenyang
language are available, new testing should be carried out following Snider’s
recommendations as listed below:

1. Sample size should be no less than 50 participants.

2. The test should be created in such a way that there is a basis for
comparison in order to determine if one way is better than the
other. One possible approach would be to teach a group of
learners a different way of tone marking, or no marking at all
while the other group would be tested based on the currently
emploved orthographic system. In so doing, the results will
provide a basis for comparison and contrast to gain greater insight
in the quesions posed, which was a major flaw of this particular
test.

3. The test should consist of two elements: a) reading proficiency,
and b) writing proficiency.

a) The reading proficiency test should consist of reading two or
three pages of material previously unknown to the reader.
This should be recorded and an observer should make note of
i general problems he observes while watching the reading.
| : Later, the tapes need to be listened to and each mistake or
hesitation be noted.
b) The writing test should consist of a dictee of one or two
pages, and later each mistake should be noted.
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6. APPENDIX

6.1 Sample Test

KENYANG SENTENCE TEST (1): Grading sheet

A. Low-tone verbs

Warm-up
1) B3 béte eket. They are building a house. ([bate])
£y b5 bate eket. Yesterday they built a house. ([batg])
2) Beka bdku eno. You (pl.) are buying a hoe. ([baki])
Béti beka biku eno. (In the) morning you (pl.) bought a hoe. ([bik@])
Test
1} Beka bimen ebhay. You (pl.) are swallowing fufu. ({bdmen])
Nyéka beka bimen ebhay. You (pl.) swallowed (FAR PAST) fufy.
({bdmen]y
2) B35 basot gkay. They are taking a basket. ([basdt])
€1 b3 bésot ekay. Yesterday they took a basket. ([bas5t])
3) Beka biko neko. You (pl.) are walking. ([bik3])
Nyakéi beka biko neko. You (pl.) walked (FAR PAST). ([b3k5])
4} BA bamen ebhay. They are swallowing fufu. ([bamen))
Nysk4 b5 bamen ebhay. They swallowed (FAR PAST) fufu. ([bamén])
5) Beka bite eket. You (pl.) are building a house. ([bits])

£y beka bite eket. Yesterday you (pl.) built a house. ([baté])




KENYANG SENTENCE TEST (2): Grading sheet

B. High-tone verbs

Warm-up
1) B3 bat{ eno.
B3 bati n3k5 eno.

Eyi b5 bati eno.

Test

1) B5 batws fa.
B5 batw nsk fa.
B&t{ b5 batws fa.

2) Beka bikwén neme.
Beka bikwén ndk) neme.
£yt beka bikwén neme.

3) Beka bati eno.
Beka bit{ ndk3 eno.

Eyii beka biti eno.

4) Beka batw3 fa.
Beka bitw) ndk5 fa.
Nyaka beka bitws fa.

5) B35 bakwén neme.
B3 bikwen ndk5 neme.
Béti b3 bikwép neme.

Kenyang Tone Orthography Test

They are selling a hoe. (ambiguous)
They usually sell a hoe. ([ba*ti})
Yesterday they sold a hoe. ([bati])

They (come) here. (ambiguous)
They usually come here. ([ba*tw3])
(In the) morning they came here. ([batw3])

You (pl.) (fall) ill. (ambiguous)
You (pl.) usually fall ill. ([b3¥kwén])
Yesterday you (pl.) fell ill. ([bikwén))

You (pl.) (sell) a hoe. (ambiguous)
You {pl.) usually sell a hoe. ([ba*ti])
Yesterday you (pl.) sold a hoe. ([bii])

You (pl.) (come) here. (ambiguous)
You (pl.) usually come here. ([bi¥tw5])
You (pl.) came (FAR PAST) here. ([bitw3])

They (fall) ill. (ambiguous)

They usually fall ill. ([b4*kwén])
In the morning they fell ill. ([biékwén])
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KENYANG READING TEST
Test-takeys copy

Warm-up:

Ntan ené neko nébhé nyéka, sérok betik Kémboény ne katapila. Sébho betik

ne mmwere awa. Séghéka sékégo mbi enénfii. Mmwere awa yi b€ mme

nkw3 fisot fiks. Nsot nks mbiki tén ye mmwét neko nesye. Yi bé «mme

fichy€ yi tak3 aya.» Y1 b€ yi éntén tak5 ewn nepak. T mme fichyé ndk5

yi, mbiki kém katapila sayri. Yi nkw3 apet 4ya n3k5, atén mmwét ambi no

nkém enok £chi anten arok atem katapila aré. Mme mfii amfay nkwén a

mmiék. Nkwén nk3, nti awa achwe chi anten ngét katapila. Yi nkw5

akém gkasé ate. Batwd bayon mme. B& mbon enyin a mmwére? Mbé ye-

enyin épi. Mpok eyo nkw3 betik mémay nnywap end.

Test:

Nnywop enénfil ndok ebhi béche bagyép. Nche no bagyép dmay. Ntw)

ndok bérdn byé bata eya. Mbyé kpat mpet fitwd ndu nta enénfi, ng5 ebhi

énan €den. Ndok kékwit, thpet fitw5 nnya akwen aré te méanan bakwo.,

Mpet nsem ntw? ndu &tem nkwese mmwere awa ngati yi. Mbé «nnya

akwen ndu nta kpate bakwow. Ke yi bé «bo ebhen bakw3 no nnya ey»
bakway bépiko bérdn no a nnywsp». Y1 sénk6nd ndu mb5. Sékégo ndu |
mb3 sérok s€kwése bo ebho. Batdn besé nnya eyo. Sépiks sétw) ndu

|
|
|
gtem, sékdre séchye eyap. Manik abhak besé a nti. }
|
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6.2 Text Reading Tests with Gloss
Kenyang Reading Test: Warm-up

Ntan ené neko nébhé nyakd, sérok betik Kémboéy ne katapila. SEbho betik ne
mmwere awa. S#ghika sékono mbi enénfii. Mmwere awa yi b€ mme nkw3 fisot
fika, Nsot nku mbiki tén ye mmwét neko nesye. Y{ b€ «mnme fichyt yi taks ayan Yi
b yi éntén tAkd ewu nepak. Té mme fichy£ n5k3 yi, mbski kém katapila sdyri, Yi
nkw? apet 4y4 ndk5, atén mmwét ambi no nkém enok £chi anten arok atem katapila
aré. Mme mfii amfay nkwén a mmik. Nkwén n5k5, nti awa dchwe chi anten ngt
katapila. Y1 nkw? akém £k4sé ate. Batw5 bdyon mme. BE mbon enyin) a mmwére?
Mbé ye-enyiyg épd. Mpok eys nkw? betik mémay nnywop eno.

4) Ntap ené neko nébhé nyaka, sérok bstik Kémbog ne katapila.
Aty Ené nékd né.bhé nydkd, sérdk  betik
Kémbop mne  kitapild.
month REL new itstarted FARPAST wewent work
Kembong with caterpillar.
“When the month started some time ago, we went to work at Kembong
with a caterpillar.’

5) Sébho betik ne mmwere awa. Séghaka sékéno mbi enénfi.

SE.bhd bittk ne  immwere awa. SE.ghdka  sé.koyod mbi
we.started work with friend my we.arrived we.followed road
certain
‘We started working with my friend. We arrived and started following a
certain road.’
6) Mmwere awa yi b§ mme nkw3j fisot rika.
mmwere awd yi bé.  inme Rkw3 #.sdt H.kd.

friend my he that I also Lshould.take Lshould.do
‘My friend said that I should take over and work.’

7) Nsot nka mbiki tén ye mmwét neko nesye.
Asdt  hki mbiki tEn  y& mmwét nékd  ne.sye.
Ltook Idid ILNEG shift not body joumey it.is.far
‘I took over and started working for a short distance.’

8) Yibé «mme richyé yi taks aya.»

Vi bé  immé A.chyé yi %3 aya
he that I Lshould.give him grass plenty
<9999
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9) Yi bé yi éntén tiks ewu nepak.
yvi bé yi énién taks 2wi  nipak.
he that he he. HORT.shift grass there corner
‘He came and said that he wanted to shift the grass at the corner.’

10) T& mme fichy€ n3k$ yi, mbiki kém katapila sayri.

TE  inme hi.chyé n3ks yi, m.bikdi “kém
katdpild  sdyri.
then I I.gave PAST him Lnot(PAST) hold

caterpillar well
‘As I gave it to him, 1 did not hold the caterpillar well.”

11) Yinkw3 dpet aya nsks, atén mmwét ambi no nkém ensk £chi anten
arok atem katapila aré,

i nkw3 4.pét d.yd n3ks,  atén mmwét  ambi
nd

he also he.again hedrove PAST heshified body front
DEM

nkém Endk é.chi antEn ardk  attm katapila  aré,

stump tree it.was  below  hewent hehit caterpillar there
“When he started driving, he drove a short distance, not knowing a free
stump was below. He went and hit the stump with the caterpillar.”

12) Mme mfit amfay nkwén a mmik.
mmé ffii amfay nkwén a mmik.
I Lleft up ILfell LOC ground

‘I fell onto the ground’
13) Nkwén n5k3, nti awa dchwe chi anten ngdt Katapila.
Akwén ndks, nd  awd d.chwé  chi anten  figat katapila.

lLfell PAST head my itentered FOCUS below tire caterpillar
*As 1 fell my head fell between the tires.’

14) Yi nkw3 akém £kasé ate. Batw) biayon mme.
vi hkwd akém Ekasé ate Ba.w3  bd.ydy mme.
he also he.held brakes hestood they.came they.carried me
‘He held the brakes and stood. They came and carried me.’

15) BE mbon enyin a mmwére? Mbé ye.enyiy €pi.
bé  m.bdy Enyiy a mmwété  m.bé veinyly épi.
that Lhave anything LOC body.QUES [Lthat no.anything it.is.not
‘They asked if I had any wound on my body. I told them nothing was
wrong.’

16) Mpok ey> nkw) betik mémay nnywap eno.
mpdk dyd nkwd btk mémiy  hnywdp Emd.
time that also work it.finished day that
‘The work was completed that day’
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Test story:

Nnywop enénfii ndok ebhi béche bagyép. Nche no bagyép dmay. Ntw3) ndok bérdy
by6 bata eya. Mbyd kpat mpet fitw) ndu nta enénfil, ng) ebhi £ndn éden. Ndok
kékwht, mpet fitw) nnya akwen aré te ménan bakwo, Mpet nsem ntw5 ndu étem
nkwese mmwere awa ngati yi. Mbé «nnya akwen ndu nta kpate bakwow. Ke vi bé
«bo ebhen bakws no nnya ey> békway bépdko bérdn no a nnywsp». Yi sénkdné ndu
mb3. Stkdno ndu mbd sérok sékwése bo ebho. Batdn besé nnya eyo. Sépsko sétwd
ndu étem, sékdre séchye eyap. Mapgik abhak besé a nti.

17) Nnywop enénfii ndok ¢bhi béche bagyép.
amywdp enénfit A-ddk Ebhi bé.ché bagyép.
day certain Lwent bush to-enter palms
‘One day, I went to the bush to prune palms’
18) Nche no bagyép amay.
n.ché n3  bagyép d.may.
Lpruned DEM palms it.finished
‘I pruned them to the end”
19) Ntw3 ndsk bérag byé bata eya.
htwd  h-ddk be*rdy byé bata eya.
L.came Lwent to.go  look traps my
‘T now went to observe my traps.’
20) Mbyé kpét ripet itwd ndu nta enénfld, ngs €bhi £éndy £den.
mbyé  kpdt mpét Aiwd Adi a Enénfii, N.g3 Ebhi
&.%ndy Eden.
Llooked umtil Lagain I.came at trap certain Lsaw bush
it COMP it.beaten
‘T observed until I came to a certain trap, then I saw that the bush was
beaten down.’
21) Ndok kékwit, mpet itwd nnya akwen aré te manan biakwo.

h.ddk  kékw3t, rpdt  Aawd  nya dkwen aré & md. ndy
bd.kw3.
I.went near Lagain I.came beef itfell there until

they. COMP they.shared
‘T went near and observed that an animal had fallen in the trap and

people had shared it.
22y Mpet nsem ntwH ndu £tem nkwese mmwere awa ngati yi.
mpét  f.sém Rtw3  hdi EEm hkwisé mwere dwa n.gatd
YL |
Lagain Lreturned I.came at hut ILmet friend my Ltold
him

‘I returned to the hut and told my friend (about it).’
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23) Mbé «nnya akwen ndu nta kpéte bakwoy.
m.bé fmya dkwin Adi b kpdtd bd.kwd
Lthat animal itfell at trap until they.shared
‘T said that an animal had fallen into a trap and some people had shared

it.”
24) Ke yi bé «bo ebhen bikw3 no nnya eys bikway bépsks bérin no a
nnywsp».
k& i bé bo Zbhén bad.kw3
nd anyd
but he that people REL they.shared
DEM animal
Byd b kwiry bé.p5k> bérsy nd a Amywsp
that they.enough to.carry to.go DEM LOC house
‘He said that the people who have shared it should be going home with
it.”
25) Yisénkondé ndu mb3.
Vi sé.nkéns Adit mb3.

he we.HORT.follow at track
‘He said we should follow the bush track.’

26) Sékéno ndu mb3 sérok sékwése bo gbho.
SE.kono ndi mbs sé.rdk  sé.kwésk bo Ebh.
we.followed at frack we.went we.met people those
‘We followed the bush track and met the people.’

27) Batag besé nnya gyo.
bad.tiy besé. nya  Eyd.
they.showed us  animal that
‘They showed us the meat.”

28) Sépsko sétwh ndu étem, sékdre séchye eyap.
SEpskd  sEawd  Adn &8m, sEkdrk  sé.chyE Eyap.
we.carried we.came at hut we.shared we.gave theirs
“We carried it and returned to the hut. We shared it and gave them
theirs.’

29) Magak abhak bsesé€ a nti.
mdpdk  a.bhak besé & At
happiness it.was us LOC heart
‘We all became happy.’
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